
4 

5 

1

2 

3

4

5

1

2

3

A 2x

B 3x
D 2x

E 1x

F 4x

COM314

Huśtawka z drabinką na 6 szczebli, 

drąg 2,5 m

2x

A

I

II

III

G x3

H x4

I x14

Śruba zamkowa M10x220

Nakrętka, podkładka M10

M8x160

M8x100

C

B

G

I

J

C x3

G

I

2

1

0

0

 

m

m

J X6

4,0 x 60

B

D

2

1

0

0



6 

7 

6

7

A 2x

B 3x

D 2x

E 1x

F 4x

COM314

Huśtawka z drabinką na 6 szczebli, 

drąg 2,5 m

2x

IV

V

G x3

H x4

I x14

Śruba zamkowa M10x220

Nakrętka, podkładka M10

M8x160

M8x100

E

I

C x3

H

J X6

4,0 x 60

F

Możliwoścć zamontowanie ślizgu 3 m.


